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OY0IER HIYHE ¥ 23017 LA 30,000
OH2RE BEx3A 60,000
405 THabH S| 18,000 72,000 A 54,000
01 AL EFH S 18,000 72,000 254,000
OSEEIE MEdMES 78 8,000
O=2gd&d A2Z ¢ 10,000
DaMs2 2922 292,482 648, 360 A 355,878
101 14l 36,986 36,064 922
4 D12t ZE2XREES 36,986 36,064 922
OLEMs2 22l 22N B 36,986
cJIE2=s 68,7203 * 298 » 200 27,488
oxFFd 68,7203 * 2H » 40 5,498
o 2HAlH| 5,000& * 28 = 200 2,000
o FE S 500,000 » 2¥ « 23] 2,000
201 LEr2 Y| 238,200 252,000 A 13,800




EM: AZXY N
FM: HsdE 84
S MFIIBAExd - 22l (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 At 22l 15,000 15,000 0
OClLEMSA AMd2e 29 10,000
O=2sXNAE2 5,000
02 3322l 223,200 237,000 A 13,800
O3 & HA 179,700
ocXMIl=a 9,500,000& = 12& 114,000
oMot ER3 600,000& » 12& 7,200
os5dJ| ZIIEAME 800,000& = 13l 800
CHIIGHMAL =22 3,000,000& = 13l 3,000
ocM=XEAEZ 20,000& = 100 = 23l 4,000
ocYHAAEZ 800,000& =« 43| 3,200
odzHI (Mo ¥ )
9,500,000&  5& 47,500
OAl4& &l Xl 15,000
cNIAMESE AMEES K22 15,000
OSQBHANAYE SRA22 24
500,000& = 12& 6,000
ORnANsZ s2I |FA2e 824
250,000& = 12& 3,000
OLNANSH B M2 EY 17,000
OnNAN=s2 A== A2 HIIEE &4
2,500,000& = 13l 2,500
202 oddl 1,296 1,296 0
01 = LH o4 1l 1,296 1,296 0
OL3N=2 dR=X
81,000& » 28 = 22 « 43| 1,296
206 TH 2 H 11,000 17,000 A6,000
01 = bl 11,000 17,000 26,000
O&Il, sS4 JIH s NN +< 6,000
OLEDZ Y, =ML 25 7 5,000
405 RHoHF S HI 5,000 0 5,000
01 XL 2 ZF S| 5,000 0 5,000
ONEMSs2 VIPE 0Kz 2+¢
2,500,000 * 2CH 5,000
BAZ=DE 29z 221,213 125,792 95,421
< 30,000
Al 191,213
101 @14 Hl 18,493 18,032 461
04 JIZHHZ2XEE 18,493 18,032 461
AZXOIE &2 22ik B 18,493
=Jl2g 68,7203 * 18 = 200 13,744
oxFFH 68,720& * 198 » 40 2,749




EM: AZXY N
FM: HsdE 84
S MFIIBAExd - 22l (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o 2HAlH| 5,000& * 198 = 200 1,000
o HEF | 500,000& = 1H « 23| 1,000
201 €2l 101,620 82,760 18,860
01 At 22/l 10,900 18,040 AT,140
OAXZXIIF A2 29 4,000
OFIE AN gRa2sy
60,000& = 198 = 115¢ 6,900
02 =224l 90,720 64,720 26,000
Oz&22= & HA 54,800
oXMIle=a 2,500,000& = 12& 30,000
oMot ERZ3 1,300,000& = 12& 15,600
cEIZMNERE S 500,000& = 23| 1,000
oMI|etM e HE =2 350,000% * 128 4,200
oMa=X FAZ 20,000& * 100€ * 23| 4,000
Ozl 2,000
o AT=IIT eyl 500,000& = 43 2,000
OA4& &l Xl 20,000
oALXXIIT AIEE FAZ2 20,000
OSFHANAHE SRA2e 24
500,000& = 12& 6,000
O2E=HelAlE A2l Y
1,980,000& * 4&7| 7,920
206 M= Hl 5,000 5,000 0
01 24l 5,000 5,000 0
OAX =03 292l 5,000
401 Al& Bl 28I 94,600 20,000 74,600
= 30,000
Al 64,600
01 A& HI 94,600 20,000 74,600
O0F& 210 ES0HE &X 25,000
OO07& HIFAYZEU ot ESMHE X
100,000& * 60H 6,000
O&3x HHEZ i 300,000& = 1204 3,600
OEHAZ =TT HI ALY SE2 &5 60,000
< 30,000
Al 30,000
405 XH&HE S HI 1,500 0 1,500
01 AL EFH S 1,500 0 1,500
O0fRss dE23aA 750,000& = 2CH 1,500
Jte s DX 5,000 5,000 0
401 AIEHIZ 201 8I 5,000 5,000 0
01 A& tl 5,000 5,000 0




SH: AEZYH D
HE: MM SY

e MIFIIBAIE XY - 22| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OJIg s DXNHEHE | 5,000
HAZ20 s =835 A 2,000,000 0 2,000,000
J| 700,000
= 465,000
Al 835,000
403 XX SHHS K20 & 2,000,000 0 2,000,000
J| 700,000
& 465,000
Al 835,000
02 2| 2SS A=2EAEAS Y 2,000,000 0 2,000,000
Od=0UMESHH St HE WEHASY 2,000,000
J| 700,000
& 465,000
Al 835,000
J27 A OIXZXC WHBAH 900,000 0 900,000
g 270,000
< 189,000
Al 441,000
401 AlEHIZL 201 Y| 900,000 0 900,000
= 270,000
= 189,000
Al 441,000
01 Al&H| 900,000 0 900,000
ODS2RZA OIXZXC| WH 2AF 900,000
Ry 270,000
< 189,000
Al 441,000
HEHSHAL (AT =P L) 35,324 65,080 N29,756
24| 35,324 35,324 0
=34l 35,324 35,324 0
201 gEt24d| 30,024 30,024 0
01 AFR2 22| H| 30,024 30,024 0
OEMd&Y I3l 6,600
o AILX)|E 300,0008 * 12& 3,600
o AL XAlA 250,000 ~ 12€ 3,000
ONRES (AKX S) 4,800
o AIIX)|E 200,000 ~ 12€ 2,400
o AILXAA 200,000 = 12&€ 2,400
OBEZAIRI|D| ARE 22 7,200
oAIIX)|E 300,000€ = 40 = 23| 2,400
o AILXY AN 300,000& = 2CH = 23| 1,200
o AT X AL 300,000& * 6CH * 23] 3,600
OF=1=1s] 11,424
o AIIX)|E 8,0008 ~ 8% » 7& * 12& 5,376
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S ATEYHD
Mo WHSAAH (AT XYM I)
chel: D12

SA - ZE-B(EA) - NRAY - B S il &t o il

o ALZLXAlA 8,000& = 9 * 7 * 123 6,048

202 oddl 1,700 1,700

01 = LH 4 1l 1,700 1,700
OHl&Z28 2ol 1,700

203 R =T Y| 3,600 3,600

04 RARIHRE A 3,600 3,600
ORN2Y gRF=2HI 300,000& = 12& 3,600




